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Young Outloo

To hibernate means to spend the winter in
close quarters in a numb, unmoving state.
A squirrel is one kind' of arimal that

Alfie Alligator is trying to discover whct the

opposite of hibernation is. The opposite of

hibernation means ''to pass the summer in @

sleepy stote.”” Help Alfie find out by following

the path of each letter to an empty square where

you then write that letter. When all squares are
" filled, you can give Alfie the answer.

hibernates in the winter. To prepare for
hibernation, squirrels (like many other
hibernating animals) eat as much os they can
before the winter months. -

Hidden in'the word search are maony other
animals that hibernate. Circle each one you
find using the word list os o guide.
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woodchuck
raccoon
squirrel
box turtle
chipmunk
dragonfly
bumblebee
skunk
snake
mwmnt
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Even though il is icy cold cutside on lhis winler day, Paul Polar Bear is awake and ready to play.,l
Although many hinds of bears in Morth America do hibernate during the winler months, among polar |
bears only pregnant females hibernate in the winter,

There are len ways in which these two pictures differ. Circle 2ach difference you see.

Sound Snoozers

Woody Woodchuck, Benny Bot, Rhonda Roccoon, Becky Bear, and Sallie Snake are aoll winter
sleepers or hibernating animals. Try to find out which name belongs to each hibernator (numbers
1-5). Mark each clue off on the chart below. CLUES.

‘a i. Hibernator 1 is not a boy.
. Hibernator 5 is a girl.
; . Woody Woodchuck is not Hibernator 4.
. Hibernator 2 is not Benny Bat.
. Hibernator 4 is a boy.

. Sallie Snake s an even number.
. Becky Bear is a higher number than
honda Reccoon. "

2
3
4
5
6. Rhonda-Raccoon 1s not an even number.
7
8
R

Hibéernator # 4 Hibernator &5

Hibernator #2 Hibernator #3

Hibernator #1

Waoody
Woodchuck

Benny
Bat

Rhonda
Raccoon

Becky
Bear

Scllie

Snake '
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Fahrenheit = Celsius,

Body temperatures and weather temperatures are usually measured using Fohrenheit. For instance a
healthy human’s body temperature should be approximately 98.6°F. A freezing temperature outside is
32°F. -

 Another waoy of referring to temperature readings is by using Celsius {or Centigrade). To change from
Fahrenheit to Celsius, follow these steps: 1)Subtract 32 frqm the Fahrenheit reading. 2)Toke 5/9 of the.
difference. | '
For exomple: (step 1)98.6° F. - 32 = 66.6; (step 2) 5/9 of 66.6 (divide 66.6 by 9 then multiply by 5) =
37°C. XY,
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_ much during his winter sleep. His
2 temperature stays between 96°

ﬁ and 88° which is warm enough to
% melt any snow thot might fall on his
2coat or into his cave.

§ 3. Bats sleep more soundly during
@ hibernation than any other animal
© thot hibarnates. Some have been

- ‘ found covered with ce, but when
| 1. When a woodchuck is octive and |
| moving around, it breathes about W vgtties worme-up shey

i - awaken as good o3 new,
2,100 times each hour. But when it : X
: is hibernating, its breothing rote 4.The pralrie dog's burrowisa 12

) decreoses 3o only 10 breaths an foathols, stroight down, into which

i the anima! dives head first.
!B?urbn“h other hibernating 3. The word hibernation comes
lanimals, a beor's

body from the Latin word, hiberna,
!umplruiur- does not drop very which means winter quariers.
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Whot about the freezing temperaturs of 32°
Change that to Celsius by filling in the blonks,

32°F. -122 - , 10°F-32 =
( "'l""}‘- 3(5"___..._.. ‘ ( : _;_q):
Thot wos easyl The onswer is 0° C. -

Now, how about o really cold winter day of 10°F?
I Hink Your Celsius answer will be below zero.
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